Jammu & Kasnmır

OFFICE OF THE EXECUTIVE ENGINEER PHE DIVISION SOPORE

Valley Constructions M/s Prop: Sofi Mubashir Hussain R/o: Saloora Ganderbal J&K

Reg. No.: CE/UEED/AAY/Civil/02/2012-13

Phone No: 7006274378

E-Mail ID:mubashir1913@gmail.com

Position of AAA : Accorded Position of T.S: Accorded

Retrofitting of WSS SHUKUR UD DIN SHAHGUND by way of providing Subject: -

laying new GI Distribution system

Dated:-10-01-2013

Advt. Cost: Rs.37.80 lacs

Allott. Cost:Rs.29.79lacs

Time of Complt.: 45days

2022_PHE_167351_1).

1. Your on-line tender received in response to this office E-NIT No: Ref:

03/JJM/JSDS of 04/2022 dated: 21-04-2022 S.No: 0/1

2. Superintending Engineer Hyd. Circle Sopore's Authorization issued

vide No: SE/Hyd./DB/3905-17 of 16-7-2022 issued Letter

JS/PHED/Spr/CS/DB/3256-60 dated: 20-7-2022/

For and on behalf of Lt. Governor of Jammu and Kashmir Union

Territory, contract for the work mentioned above is here by fixed with you on the

following rates, terms and conditions.

follov	ving rates, retrises.			Allotted Amount in
Α	Rates: Particulars of Items	Unit	Quantity	Rate Rs.
S.		Cum	524.00	436.00 228464.000
No 1	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed All kinds of soils Earth work in excavation in trenches by MECHANICAL MEANS for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed, within a lead of 50 meters: All kinds of soil:	cun		252.05 470325.30 0
1	1	1		(-00-

	Retrofitting of W.S.Scheme S	Contract to Contract of			Amount in Rs.
,	Particulars of Items	Unit	Quantity	Allotted Rate	
	Laying and fitting of G.I. pipes (all classes)				
	complete excluding cost of pipes and eatrhwork				
	but including cost of Pipe Fittings/specials.			25.40	50800.000
1	15mm dia	Mtr	2000.00	26.76	53520.000
5	20mm dia	Mtr	2000.00		78280.000
6	25mm dia	Mtr	2000.00	39.14	109200.000
 7	40mm dia	Mtr	2000.00	54.60	87450.000
<u>.</u> 8	50mm dia	Mtr	1500.00	58.30	142970.000
9	65mm dia	Mtr	1500.00	95.28	121380.000
		Mtr/	1200.00	101.15	357480.000
10	80mm dia	Mtr	2400.00	148.95 7	540000.000
11	100mm dia	Joint	300.00	1800.00	540000.000
12	P/F Of 12/10mm thick MS Flanges To 100mm Dia GI Pipe at necessary Spots Including cost of		, ,		
	demand bute bolts washer Welding Charges, I				
	the and the monday portion all sorts of carriages				
	including the deduction of cost of the				
	threaded portion and excluding laying of pipe in		/		/
	: 4 ala aa	Joint	175.00	1100.00	192500.000
13	This of 10/10mm thick MS Flanges to 80mm	001119		+	
	Dia Gl Pipe at necessary Spots Including cost of	/			
	flanges, nuts, bolts, washer, welding charges, cutting of threaded portion, all sorts of carriages				
	, . 1 1: the dedition of cost of				
	threaded portion and excluding laying of pipe in				
	1	Owan	137.00 /	245.55/	33640.35
1.	Laying in position centrifugally cast spun from	Quan tal	137.00	(/
	land diseased bloom land	- "-	/		
1	S&S or lianged pipes. Foothing Providing push-on-joints to Centrifugally (Spun) Providing push-on-joints to Centrifugally (Spun)	,			
	Cast Iron Pipes or Ductile Iron Pipes including testing of joints and including the cost of rubber				
	gasket.			144.70	13312.40
1	150 mm dia nines	Each	92.00	144.70	427403.70
$\frac{1}{1}$	pivi voilable every ated earth (excluding rock)	Cum	2151.00	198.70	427403.70
1	in trenches, plinth, sides of foundations etc. in			\	
	li not exceeding 20 CIII III ucpui,				
	l selidating each deposited layer by ramining				
	1 towing lead unto 50 m and III upto 1.5 m				
1	8 Making connection of G.I. distribution branch with G.I. main of following sizes by providing and				
	fixing Tee, including cutting and threading the				
	pipe etc. complete			1	122050.00
1	9 i) 25 to 40 mm nominal bore	Each		666.25	133250.00
	0 ::) above 40 mm nominal bore Above	Each	50.00	1268.75	63437.50
	1 Providing and Fixing of Double Hanged Cl Stuice		/\		
2	Valve with extension rods upto working Plate	/			
	form of Kirloskar Make PN-1Type including cost				
	of CL Pedestals fastened with working Platform			0	
	including cost of nuts bolts complete job	Nos	8 00	41000.00	328000.00
2	2 i) 150mm Dia Sluice Valve		8.00	17000.00	
	3 ii) 100mm Dia Sluice Valve	Nos	0.00	17000.00	150000.00

Head Draftsman

Technical Officer

Page 3rd Retrofitting of W.S.Scheme Shukur Din Shahgund

S . No 24	Particulars of Items iii) 80mm Sluice Valve	Unit Nos (Quantity 8.00	Allotted Rate	Amount in Rs.
25	Carriage of Materials by Mechanical transport from different sources to nearest dumping site of work including loading, unloading	MT	38.00	622.60	23658.743
26	i) Gl pipes upto 80mm Dia 25 km	$\frac{1}{m} f$	2400.00	15.31	36742.500 8935.500
27	ii) Gl Pipes 100mm Dia 25 km	m	500.00	17.87	
28	iii) 150mm Dia DI Pipe 25 km	7			3780699.993
	Total -21.20 % on all itmes				801508.00
					2979191.594
	Allotted Cost				

Rates and quantities checked:

Head Draughtsman

Terms and conditions:

- 1. Total amount of the work should in no case exceed beyond Rs.29.79 lacs (Rs.Twenty nine lacs seventy nine thousand one hundred and ninety one only which includes all taxes, levies etc applicable as per norms amended by competent authority from time to time.
- 2. The work shall have to be completed by you within a period of 45 days strictly in accordance with the approved design/drawings and specifications failing which penalty under rules shall be imposed upon you.
- 3. Performance security amounting to Rs.75600.00 & Rs.13800.00 deposited by you in shape of CDR/FDR/BG in this office Vide No: 3014295 dated: 9-5-2022 and No: 3014598 dated: 20-12-2022 shall be considered for release after 03 Months beyond the warranty period of 18 Months as per SBD of ENIT is over.
- 4. The contractor/Agency shall be bound for satisfactory performance for the work for 18 months after the successful commissioning of work and will have to make a trial run of work for a period of 03 Months to the best satisfaction of the department
- 5. The DLP shall be for a period of 12 months which shall commence after the successful commission of trial run.
- 6. All environmental norms, labour laws and all other guidelines issued by the competent authorities shall have to be followed by you in letter and spirit.

rage +... Retrofitting of W.S.Scheme Shukur Din Shahgund

- 7. An agreement shall have to be drawn by you with the department within a period of 07 days from the date of issuance of allotment, failure to executed such a formal deed shall not however prevent the contract from being enforced upon you. However payment on account of this work shall not be considered in absence of agreement.
 - 8. Geo tagged photographic evidence of the work, pre-execution during execution and post execution should be maintained by you on your own expenses.
 - 9. The allotted work shall have to be monitored by Third Party Monitoring Agency (WAPCOAS) appointed by the department.

10. All other terms and conditions shall remain same as laid down in E-NIT/ Standard bidding document/PWD from No 25 and GFR-2017 and manual of procurement of works

Assistant/At/counts Officer

Technical officer

al Shakt

Copy to the:

Chief Engineer Kashmir Jal Shakti PHE Department Srinagar for favour of information.

District Development Commissioner Bandipora (Chairman DJJM) for favour of information. i)

Superintending Engineer Hydraulic Circle Baramulla/Bandipora (Member Secretary JJM) for favour of ii) iii)

Assistant Executive Engineer PHE Sub Division Sumbal for information and necessary action.

M/S WAPCOAS Ltd Corporate office 76-C intuitional area sector 18 Gurgon for information iv) V)

Head Draftsman for information. vi)

File Concerned. vii)